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1 12"PVC % % ¢ 16A,B # ,4M,% L@ * 1
2 3/4"CUP % 4 & L=1.5M, OD=22.22mm P 1
3 3/4"BIP 2 48 & 20A, 1.5M OD=27.2mm,ID=21.6mm Fa 1
4 1/2"CUP ¥ 4F ¢ L=2.5M, OD=15.88mm P 2
5 12" & 8% B 4% ¢ L=3M, OD=15.88mm, 2 1
6 Ya' YV RS A = i 20A*16A 44 FF*F I 4
7 Yk = il C*F(® #)*C B 4
8 A EAF IR B 4R ER C*M B 1
9 3/4"4 B AR 3/47 PR gy i 2
10 2’PVC R 5 16A Ts*M, s I @ i 4
11 |BIEE 20T B4R 3 sk %07 13 B4 (ER)SM B 4
12 3/4 4 1y s i 3
13 3/4" 4 4 i3 3
14 FORE-EFEE |CR R (F) o s 4000 (1727 | R 1
15 S (4RéR) 1/27 % 3/8 7 (M¥F) R 1
16 S (4RéR) 3/4” % 1/27 (M¥F) R 6
17 B4k 3/8 7 ( 0-10 kg/cn’ ) R 1
18 Ya" B 4B %'BIP 2% CUP B =_* [ 8
19 4% 47 ®2.0, Sn-0.7Cu, 50g e |
20 ik IS N ¥ 5
21 PVC % & )| 100g % R+ > 3 LT @4 H # 1
22 WAL AT 300g H 2
23 2 4] 100CC > £ 1 427 * = 1
24 B M AE 312g/m? > 79cmx109cm 5k 2
25 E7 250mmx250mm > iE 2
26 A H LT UNC #06 X 127 445 > - 3 F&F > 30 £ £ |
27 ERES 6 A = % (F <) 122%90cm B 1
28 ~iE 3mm * 20mm * 2000mm (9 1




